06:29-18 | EIL.EECTRIC FOREST

01 EYE KNOW WHY 11:42

02 ONE STEP CLOSER 12:03

03 GET TIGHT 6224

04 WAY THAT IT GOES 9:04

05 LONESOME FIDDLE BLUES 12:46
06 BEST FEELING> 14:54

07 COLLIDING 10:46

01 THE BIG REVEAL 15:43

02 JUST ONE STORY> 12:48

03 TEXAS> 9:03

04 RIDERS ON THE STORM 2:44

05 TEXAS 5:31

06 | WISH 7:00

07 PURPLE STRAINS (EARL'’S SONG) 5:35

08 WAY BACK HOME> 4:32

09 DON'T COME AROUND HERE NO MORE> 5:36
10 WAY BACK HOME 1:53

DISC THRER
01 HI HO NO SHOW> 1t:08
02 JUST ONE STORY 552

06:29-18 | ELECTRIC FOREST

01 EYE KNOW WHY 11:42

02 ONE STEP CLOSER 12:03

03 GET TIGHT 6224

04 WAY THAT IT GOES 9:04

05 LONESOME FIDDLE BLUES 12:46
06 BEST FEELING> 14:54

07 COLLIDING 10:46

DISC TWO

SET TWO

01 THE BIG REVEAL 15:43

02 JUST ONE STORY> 12:48

03 TEXAS> 9:03

04 RIDERS ON THE STORM 2:44

05 TEXAS 531

06 | WISH 7:00

07 PURPLE STRAINS (EARL’S SONG) 5:35
08 WAY BACK HOM

09 DON'T COME AROUND HERE NO MORE> 5:36
10 WAY BACK HOME 153

DISC THRER
01 HI HO NO SHOW:> 11:08
02 JUST ONE STORY 5:52

results), and you MUST make sure that the PAGE SCALING option is set to “NONE”. If you have PAGE SCALING set to “Fit To Printer Margins” or “Reduce to Printer Margins”, the graphics will not print at the correct size

for the standard jewel case. This is the most common problem people have when they complain about the artwork not fitting the jewel case! You can order Neato Labels from www.neato.com!
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